
Year 1

Year 2

Year 4

Year 5

Year 6

Subtraction
5 = 5 + 0 5 – 0 = 5

5 = 4 + 1 5 – 1 = 4

5 = 3 + 2 5 – 2 = 3

5 = 2 + 3 5 – 3 = 2

5 = 1 + 4 5 – 4 = 1

5 = 0 + 5 5 – 5 = 0

5
23

5

2

3

5 is the whole
2 is a part
3 is a part

add
tota

l

sub
trac

t

left

6 = 6 + 0 6 – 0 = 6

6 = 5 + 1 6 – 1 = 5

6 = 4 + 2 6 – 2 = 4

6 = 3 + 3 6 – 3 = 3

6 = 2 + 4 6 – 4 = 2

6 = 1 + 5 6 – 5 = 1

6 = 0 + 6 6 – 6 = 0

7 = 7 + 0 7 – 0 = 7
7 = 6 + 1 7 – 1 = 6
7 = 5 + 2 7 – 2 = 5
7 = 4 + 3 7 – 3 = 4
7 = 3 + 4 7 – 4 = 3
7 = 2 + 5 7 – 5 = 2

8

2

6

8 is the whole
2 is a part
6 is a part

7 – 6 = 1
7 – 7 = 0

7 = 1 + 6
7 = 0 + 7

9
36

10
46

12

5

7

5 is one part
7 is one part

12 is the whole

11 – 0 = 11
11 – 1 = 10
11 – 2 = 9
11 – 3 = 8
11 – 4 = 7
11 – 5 = 6
11 – 6 = 5
11 – 7 = 4

11 – 10 = 1
11 – 9 = 2
11 – 8 = 3

11 = 11 + 0

11 = 9 + 2
11 = 8 + 3
11 = 7 + 4
11 = 6 + 5
11 = 5 + 6
11 = 4 + 7
11 = 3 + 8
11 = 2 + 9
11 = 1 + 10

11 = 10 + 1

10 is one part
6 is one part

16 is the whole

11 – 11 = 011 = 0 + 11

16 – 0 = 16
16 – 1 = 15
16 – 2 = 14
16 – 3 = 13
16 – 4 = 12
16 – 5 = 11
16 – 6 = 10
16 – 7 = 9

16 – 10 = 6
16 – 9 = 7
16 – 8 = 8

16 – 11 = 5

16 – 15 = 1
16 – 14 = 2
16 – 13 = 2
16 – 12 = 4

16
610

12 – 0 = 12
12 – 1 = 11
12 – 2 = 10
12 – 3 = 9
12 – 4 = 8
12 – 5 = 7
12 – 6 = 6
12 – 7 = 5

12 – 10 = 2
12 – 9 = 3
12 – 8 = 4

12 = 12 + 0

12 = 10 + 2
12 = 9 + 3
12 = 8 + 4
12 = 7 + 5
12 = 6 + 6
12 = 5 + 7
12 = 4 + 8
12 = 3 + 9
12 = 2 + 10

12 = 11 + 1

12 – 11 = 112 = 1 + 11

7 is one part
6 is one part

13 is the whole

13
67

15 – 0 = 15
15 – 1 = 14
15 – 2 = 13
15 – 3 = 12
15 – 4 = 11
15 – 5 = 10
15 – 6 = 9
15 – 7 = 8

15 – 10 = 5
15 – 9 = 6
15 – 8 = 7

15 – 11 = 4

15 – 15 = 0
15 – 14 = 1
15 – 13 = 2
15 – 12 = 3

15

7

8

7 is one part
8 is one part

15 is the whole

12 = 0 + 12 12 – 12 = 0

13 = 13 + 0

13 = 11 + 2
13 = 10 + 3
13 = 9 + 4
13 = 8 + 5
13 = 7 + 6
13 = 6 + 7
13 = 5 + 8
13 = 4 + 9
13 = 3 + 10

13 = 12 + 1

13 = 2 + 11
13 = 1 + 12
13 = 0 + 13

13 – 0 = 13
13 – 1 = 12
13 – 2 = 11
13 – 3 = 10
13 – 4 = 9
13 – 5 = 8
13 – 6 = 7
13 – 7 = 6

13 – 10 = 3
13 – 9 = 4
13 – 8 = 5

13 – 11 = 2
13 – 12 = 1
13 – 13 = 0

14 = 14 + 0

14 = 12 + 2
14 = 11 + 3
14 = 10 + 4
14 = 9 + 5
14 = 8 + 6
14 = 7 + 7
14 = 6 + 8
14 = 5 + 9
14 = 4 + 10

14 = 13 + 1

14 = 3 + 11
14 = 2 + 12
14 = 1 + 13

14 – 0 = 14
14 – 1 = 13
14 – 2 = 12
14 – 3 = 11
14 – 4 = 10
14 – 5 = 9
14 – 6 = 8
14 – 7 = 7

14 – 10 = 4
14 – 9 = 5
14 – 8 = 6

14 – 11 = 3
14 – 12 = 2
14 – 13 = 1
14 – 14 = 014 = 0 + 14

15 = 15 + 0

15 = 13 + 2
15 = 12 + 3
15 = 11 + 4
15 = 10 + 5
15 = 9 + 6
15 = 8 + 7
15 = 7 + 8
15 = 6 + 9
15 = 5 + 10

15 = 14 + 1

15 = 4 + 11
15 = 3 + 12
15 = 2 + 13
15 = 1 + 14

16 = 16 + 0

16 = 14 + 2
16 = 13 + 3
16 = 12 + 4
16 = 11 + 5
16 = 10 + 6
16 = 9 + 7
16 = 8 + 8
16 = 7 + 9
16 = 6 + 10

16 = 15 + 1

16 = 5 + 11
16 = 4 + 12
16 = 3 + 13
16 = 2 + 14

16 – 16 = 0
16 = 1 + 15

16 = 0 + 16

whol
e

par
t

tota
l

sub
trac

t
15 = 0 + 15

18

5

13

5 is one part
13 is one part
18 is the whole

17 – 0 = 17
17 – 1 = 16
17 – 2 = 15
17 – 3 = 14
17 – 4 = 13
17 – 5 = 12
17 – 6 = 11
17 – 7 = 10
17 – 8 = 9
17 – 9 = 8
17 – 10 = 7
17 – 11 = 6
17 – 12 = 5
17 – 13 = 4
17 – 14 = 3
17 – 15 = 2
17 – 16 = 1
17 – 17 = 0

17 = 17 + 0
17 = 16 + 1
17 = 15 + 2
17 = 14 + 3
17 = 13 + 4
17 = 12 + 5
17 = 11 + 6
17 = 10 + 7
17 = 9 + 8
17 = 8 + 9
17 = 7 + 10
17 = 6 + 11
17 = 5 + 12
17 = 4 + 13
17 = 3 + 14
17 = 2 + 15
17 = 1 + 16
17 = 0 + 17

12 is one part
8 is one part

20 is the whole

20
812

whol
e

par
t

tota
l

sub
trac

t

18 = 18 + 0
18 = 17 + 1
18 = 16 + 2
18 = 15 + 3
18 = 14 + 4
18 = 13 + 5
18 = 12 + 6
18 = 11 + 7
18 = 10 + 8
18 = 9 + 9
18 = 8 + 10
18 = 7 + 11
18 = 6 + 12
18 = 5 + 13
18 = 4 + 14
18 = 3 + 15
18 = 2 + 16
18 = 1 + 17
18 = 0 + 18

18 – 0 = 18
18 – 1 = 17
18 – 2 = 16
18 – 3 = 15
18 – 4 = 14
18 – 5 = 13
18 – 6 = 12
18 – 7 = 11
18 – 8 = 10
18 – 9 = 9
18 – 10 = 8
18 – 11 = 7
18 – 12 = 6
18 – 13 = 5
18 – 14 = 4
18 – 15 = 3
18 – 16 = 2
18 – 17 = 1
18 – 18 = 0

If I know 
5 + 4 = 9

then I also know 
15 + 4 = 19

19 = 19 + 0
19 = 18 + 1
19 = 17 + 2
19 = 16 + 3
19 = 15 + 4
19 = 14 + 5
19 = 13 + 6
19 = 12 + 7
19 = 11 + 8
19 = 10 + 9
19 = 9 + 10
19 = 8 + 11
19 = 7 + 12
19 = 6 + 13
19 = 5 + 14
19 = 4 + 15
19 = 3 + 16
19 = 2 + 17
19 = 1 + 18
19 = 0 + 19

19 – 0 = 19
19 – 1 = 18
19 – 2 = 17
19 – 3 = 16
19 – 4 = 15
19 – 5 = 14
19 – 6 = 13
19 – 7 = 12
19 – 8 = 11
19 – 9 = 10
19 – 10 = 9
19 – 11 = 8
19 – 12 = 7
19 – 13 = 6
19 – 14 = 5
19 – 15 = 4
19 – 16 = 3
19 – 17 = 2
19 – 18 = 1
19 – 19 = 0

20 = 20 + 0
20 = 19 + 1
20 = 18 + 2
20 = 17 + 3
20 = 16 + 4
20 = 15 + 5
20 = 14 + 6
20 = 13 + 7
20 = 12 + 8
20 = 11 + 9
20 = 10 + 10
20 = 9 + 11
20 = 8 + 12
20 = 7 + 13
20 = 6 + 14
20 = 5 + 15
20 = 4 + 16
20 = 3 + 17
20 = 2 + 18
20 = 1 + 19
20 = 0 + 20

20 – 0 = 20
20 – 1 = 19
20 – 2 = 18
20 – 3 = 17
20 – 4 = 16
20 – 5 = 15
20 – 6 = 14
20 – 7 = 13
20 – 8 = 12
20 – 9 = 11
20 – 10 = 10
20 – 11 = 9
20 – 12 = 8
20 – 13 = 7
20 – 14 = 6
20 – 15 = 5
20 – 16 = 4
20 – 17 = 3
20 – 18 = 2
20 – 19 = 1
20 – 20 = 0

8 + 6 = ?
I know 8 + 2 = 10
then 10 + 4 = 14

addition

tota
l

sum
part

 whole

equa
ls

6

?

?

I just know it!

8 + 6  =  14

4 + 10 = 14
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0   1   2   3   4  5   6   7   8  9  10 11 12 13 14 15 

14
104

2   4 

Magic 10
7

?

?

8

?

?

9

?

?

14

10

4

4 + 10 = 14

13
94

4 + 9 = 13

Year 3
Year 4

subt
ract

diffe
renc

e

com
mutat

ive

56 – 19
Round then adjust

10s           1s

Subtract 20 then add 1

563736

+1
–20

55 – 20
Subtract multiples of ten

10s           1s

5535

–10

45

–10

If I know 5 – 2 = 3 
then I also know 
50 – 20 = 30

52 – 47
Find the difference between 

two numbers

47 +      = 52
52 – 47 = 

Stop and look.
What do you notice?

52 – 47 is not equal to 47 – 52
Subtraction is not commutative

47 5
52

5247

+3

50

+2

10 – 0

10 – 1

10 – 2

10 – 3

10 – 10

10 – 9

10 – 8

10 – 7

10 – 6

10 – 5

10 – 4

10 

9

8

7

0

1

2

3

4

5

6

9 – 0

9 – 1

9 – 2

9 – 3

9 – 9

9 – 8

9 – 7

9 – 6

9 – 5

9 – 4

8 – 0

8 – 1

8 – 2

8 – 3

8 – 8

8 – 7

8 – 6

8 – 5

8 – 4

7 – 0

7 – 1

7 – 2

7 – 3

7 – 7

7 – 6

7 – 5

7 – 4

6 – 0

6 – 1

6 – 2

6 – 3

6 – 6

6 – 5

6 – 4

5 – 0

5 – 1

5 – 2

5 – 3

5 – 5

5 – 4

4 – 0

4 – 1

4 – 2

4 – 3

4 – 4

3 – 0

3 – 1

3 – 2

3 – 3

2 – 0

2 – 1

2 – 2
Subtraction Facts 

10

10
10

10
10

345 – 127
Exchanging tens

regr
oup

exch
ang

e

one
s

tens

hun
dre

ds

345 – 157
Exchanging in multiple 

columns

345 – 67
Different numbers of digits

100s         10s            1s

3  4  5
1  2  7–
2  1  8

13

100s         10s            1s

3  4  5
1  5  7–
1  8  8

1312

3  4  5
  6  7–

2  7  8

1312

Line up the ones 
with the ones, the 
tens with the tens.

230 – 80
Bridging boundaries

by counting back in 
efficient steps

150 230

– 50 – 30

200

230 – 30 – 50 = 150

tota
l

diffe
renc

e

one
s

tens

hun
dre

ds304 – 297
Find the difference 

between two numbers

304297

+3

300

+4

304 is 7 more than 297
297 is 7 less than 304

so the difference between
 them is 7

297 7
304

435 – 199
Round then adjust

Take away 200 then add 1

100s         10s            1s

435436235

– 200

+1

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

regr
oup

exch
ang

e

one
s

tens

hun
dre

ds

thou
san

ds

3343 – 1756
Exchanging in multiple 

columns

3543 – 835
Different numbers of digits

3543 – 1216  
Exchanging tens

3  5  4  3

1000s       100s          10s            1s

100 100

100 100

100

1000 1000 10 10

10 10

1

1

1

1  2  1  6–
2  3  2  7

1000

1 1

1 1

1 1

1 1

1 1

13

1000s       100s          10s            1s

100 100

100

1000 1000 10 10

10 10

1

1

1

1000

1 1

1 1

1 1

1 1

1 1

10 10

10 10

10 10

10 10

10 10

100 100

100 100

100 100

100 100

100 100

3  3  4  3
1  7  5  6–
1  5  8  7

13122 1

3  3  4  3
8  3  5–

2  5  0  8

132 1

Line up the ones 
with the ones, the 
tens with the tens.

If the ones digit in the minuend is 
less than the ones digit in the 

subtrahend, I need to exchange 
1 ten for 10 ones.

2300 – 800
Bridging boundaries

by counting back in 
efficient steps

1500 2300

– 500 – 300

2000

2300 – 300 – 500 = 1500

tota
l

diffe
renc

e

one
s

tens

hun
dre

ds

thou
san

ds
3995 – 4007

Find the difference 
between two numbers

40073975

+5

4000

+7

Count on 5 from 
3995 to 4000, then 7 more
so the difference between

 them is 5 + 7 = 12

3995 12
4007

www.candomathsclub.co.uk

5451 – 1999
Round then adjust

Take away 2000 then add 1

545134523451

– 2000

+1

1000s       100s          10s            1s

1000

100 100

100 100

1000 1000 10 10

10 10

10

1 1

1000 1000
1

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

100

sum
tota

l

sub
trac

t

diffe
ren

ce

63,452 + 19,999
Round then adjust

Add 20,000 then subtract 1

83,45163,452 83,452

+20,000

-1

10,000s      1000s       100s          10s            1s

1000

100 100

100 100

1000 1000 10 10

10 10

10

1 110,000 10,000

10,00010,000

10,00010,000

10,00010,000

40,007 – 39,995
Find the difference 

between two numbers

40,00739,995

+5

40,000

+7

Count on 5 from 
39,995 to 40,000, then 7 more

so the difference between
 them is 12

39,995 12
40,007

s               s

0.1

1s              s1
10

1
100

1
1000

1 1 0.1

0.1 0.1

0.01 0.01

0.01 0.01

0.01

0.001 0.001

2.452 – 0.999
Round then adjust

0.001

Take away 1 then add 1 thousandth

2.4521.4531.452

– 1

+0.001

    25,648 
+  42,524
    68,172

    45,748 
-  26,374
    19,374
        

3   1     6    1

1      1

    25.648 
+  42.524
    68.172

 1      1

    45.748 
-  26.374
    19.374
        

3   1     6    1

Written methods
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